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AT T35 :
feaforiaa e &1 aga AragT=t @ 9ieq ST et TTeT Iy :

1.
2.

®

N A

39 TH-U7 4 38 ¥ &1 q¥t 397 7fart

Y¥-97 e @usl § [uifora 8 - @vs &, @, T, 9 AT g |

Gue & H Y G&A1 1 § 18 T%F glashedia adl 97 G847 19 TF 20 AWHIT T FHRIT
TR TH-Teh 37 & I97 81

Gus @ § Y37 &A1 21 § 25 a9 3fd ag-3a90F (VSA) T#R & gl-gl 3l & 997 8|
@UE T 4 I3 GEAT 26 @ 31 dF AG-IRI (SA) IHR F -7 3l & g9 81

QUs g § Y97 G&q1 32 35 % G-3RI (LA) IR & Gra-qi< 3l & I3 3/

GUg T I Y99 G&IT 36 G 38 GId/ThIUT ShT3 STLUTRA TR-TR 37l & J97 8/ 37alke
fareheq 21—t 37ehl & J39 7 faar 81

Y99-97 § GHY fahey a1 fod1 797 81 IEfU, @S & & 2 Yvl °, @US T & 2 Il 4,
GUS T & 2 Y9I § a9T U8 € & 3 ¥ 7 R fdeheq &7 Jiae foar w2 81

g STEVIF & TS ARG FHIY | AlG TawF & @ w=22/7 Wl
FAFI HT IFINT Fford 3l

@ug - <h

TUT - & | agfahedta TR o T & 3R T T9T HT 1 39 2|

1.

k =1 9 ek fore oefietor 3x — y + 8 = 0 3 6x — ky + 16 = 0 g Fsfua

@t gurdt 8, B 1
@) 5 (b) —5 © 2 (@) -2

forsen 5.2 Tft. & T g9 W AB @91 CD @ THIR &0 W@ 2| 39 T091 {@nsti

% ofter 1 gft fopat 2 7 1
(a) 5.2 9. (b) 10.4 3.

(c) 20.8 T, (d) 3t 721 feprelt S Tkl @

fgaTd sigval, TSk ST — 3 37 4 &, il 5 1 1
(@) 1 (b) 2 (c) 3 (d) 3T 3ferem

¢ Tk I T INATT 3R &Tha TEATCHS €9 § e g, A1 M ga hl Psamg ;1
(a) 2 (b) 7 =TT (c) 4T (d) 2 nHEEh

T Tema wefietor, fomreh uh 9a 2 SR gel m A e g, R 1
(@) x*+4=0 (b) x’—2=0 () 4x°—1=0 (d) x¥*’—4=0

= o e, feama ot A 2 2 1
(@) 2(x -1’ =4x"—2x+1 (b) 2x—x*=x*+5

©) (M2x+B3Y+x=3x"-5x (d) (P +2x)* =x*+3 +4x°
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General Instructions :
Read the following instructions carefully and follow them :

1.
2.
3.

4.

9.

10.

This question paper contains 38 questions. All questions are compulsory.

Question paper is divided into FIVE sections - Section A, B, C, D and E.

In section A, question number 1 to 18 are multiple choice questions (MCQs) and
question number 19 and 20 are Assertion - Reason based questions of 1 mark each.

In section B, question number 21 to 25 are very short answer (VSA) type questions
of 2 marks each.

In section C, question number 26 to 31 are short answer (SA) type questions
carrying 3 marks each.

In section D, question number 32 to 35 are long answer (LA) type questions
carrying 5 marks each.

In section E, question number 36 to 38 are case based integrated units of
assessment questions carrying 4 marks each. Internal choice is provided in 2
marks question in each case study.

There is no overall choice. However, an internal choice has been provided in 2
questions in Section B, 2 questions in Section C, 2 questions in Section D and 3
questions in Section E.

Draw neat figures wherever required. Take n = 22/7 wherever required if not
stated.

Use of calculators is not allowed.

SECTION - A

Section - A consists of Multiple Choice type questions of 1 mark each.

1.

The value of k for which the equations 3x —y+ 8 =0and 6x —ky + 16 =0

represent coincident lines is : 1
1 1

@ 5 (b) -3 © 2 () -2

A circle of radius 5.2 cm has two tangents AB and CD parallel to each

other. What is the distance between the two tangents ? 1

(a) 5.2cm (b) 10.4 cm (c) 20.8cm (d) can’t find

The number of polynomials having zeroes — 3 and 4 is : 1

(a) 1 (b) 2 (c) 3 (d) more than 3

If the perimeter and the area of a circle are numerically equal, then the

radius of the circle is : 1

(a) 2 units (b) 7 units (c) 4 units (d) 2 m units

A quadratic equation whose one root is 2 and the sum of whose roots is
zero, 1S : 1
@ x¥+4=0 (b)) x¥-2=0 (¢) 4’—1=0 (d) x¥-4=0

Which of the following is not a quadratic equation ? 1
(@) 2(x—1)Y=4x*-2x+1 (b) 2x— x*=x*+5
() (\/Ex +\/§)2+x2=3x2—5x (d) (F+2x)7 =x"+3 +4x°

E5E
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11.

12.

13.

14.

15.

16.

17.

18.
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T g9 W feud u fog & ga W ferat Tost Yerd di=h S aeRdt 8

(a) T (b) @ (c) 3FF (d) ¥
e % el e o e A R A 2 7
(2) 0.1 (®) 3 ©) 3% @ +

30 /. et HAR % urg-fog @ 30 . i gl W feud we fog @ WHR % Rex
%1 IAIT R0 R

(a) 30° (b) 45° (c) 60° (d) 90°
e 2,3,3,4,5,4,4,5,3,4,2,6,7 1 957F ¢ :
(a) 2 (b) 3 (c) 4 (d) 5

Mg x —y=lx+hy=5SRers ol g H afgdaga x =2, =128, @
ka1 AH 7

(a) -2 (b) -3 (c) 3 (d) 4
70 3R 40 % forw (HCF x LCM) TR 2
(@) 10 (b) 280 (c) 2800 (d) 70

weE (5 - 35+5) w
(a) Uik 2 (b) Wl ez (c) ufwm e g (d) qof 9= 8

afe sgE p (x) =2+ 5x+ 6%, q p(-2) FAMD :

(a) 20 (b) 0 (c) -8 (d) 8
Ife AABC ~ADEF 2 3R ZA=47°, /ZE=83°%, @ LZC IR ? :
(a) 47° (b) 50° (c) 83° (d) 130°

52 191 % U i TS THR W Bl T TH TG H Y TH U1 AgosAT Hehre
AT 21 39 T o AT ST B shl JTRiehdT T 8 ?

(@ < (b) 5 © 55 ) 3

s 7 9l a1l I % W =9 h A, S G % shg W 90° HI HIUN IFaa
AT 7, fohadl B 7

(a) 22, (b) 11 @i, (c) 7—27 aut. (d) % aut.
(3 sin? 30° — 4 0052600) ENETE

(@) 3 (b) 3 © -5 @ -7

E3E
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7. How many tangents can be drawn to a circle from a point on it ? 1
(a) One (b) Two (¢) Infinite (d) Zero

8. Which of the following cannot be the probability of an event ? 1
(a) 0.1 ) 3 © 3% (d) %

9. The angle of elevation of the top of a 30 m high tower at a point 30 m away

from the base of the tower is : 1
(a) 30° (b) 45° (c) 60° (d 90°

10. The mode of the numbers 2, 3,3,4,5,4,4,5,3,4,2,6,71s : 1
(a) 2 (b) 3 (c) 4 (d 5

11.  If the pair of linear equations x —y = 1, x + ky = 5 has a unique solution
x =2,y =1, then the value of k is : 1
(@) -2 (b)) -3 (c) 3 (d) 4

12.  (HCF x LCM) for the numbers 70 and 40 is : 1
(a) 10 (b) 280 (c) 2800 (d) 70

13.  The number (5 - 3 \/§+\/§) is: 1
(a) an integer (b) arational number
(c) an irrational number (d) a whole number

14. Ifp(x)=x>+5x+6,thenp (—2)is: 1
(a) 20 (b) 0 (c) -8 (d) 8

15. If AABC ~ ADEF and ZA =47°, ZE = 83°, then ZC is equal : 1
(a) 47° (b) 50° (c) 83° (d) 130°

16.  From a well-shuffled deck of 52 playing cards, a card is drawn at random.
What is the probability of getting a red queen ? 1

1 1 1 12

(a) ) (b) 2% (c) 13 (d) 3

17.  What is the length of arc of a circle of radius 7 cm which subtends an angle
of 90° at the centre of the circle ? 1
(a) 22 cm (b) 11 cm (©) 7—270m (d) %cm

18. (3 sin® 30° —4 cos? 600) is equal to: 1

5 3 1 9

@ 7 b) -7 © -7 d -7

E5E
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(atfireRem - @k TR & TA)
T HEAT 19 991 20 H TH e (A) % 9¢ T dw-we" (R) femn g i d @
Hﬁ%ﬁqﬂﬁﬂ:
(a) e (A) @1 @ (R) gHT T &1 ash (R), 1feped (A) i o =ame s 2|
(b) AfReA (A) @1 @ (R) gHT T 81 @ (R), 31fuhed (A) I Samen T&f L 2|
(c) AfRYA (A) ¥ & Tg d (R) 319H 7|
(d) stfireper (A) @@c B Sk @ (R) &d 2l
19. AfiReA (A) : I % forell foig T TRl T ol foig @ S arelt Brean ® &«
2l 2|
@F (R) : TF 90 & aTe food U folg & 38 W @i= T3 o= {@neti h awrg
THTHH BT B

20.  srfreRed (A) : 3fe fema aefisr 40 — 10x + (k — 4) = 0 1 T g0 g 4o
%1 ek &, I k &1 T 8 B
ek (R) : fgoma gt x° — x + 1 = 0% 9o arafas 3
T g - @
TUE - @ | AT TY-3IW (VSA) ThR & T g 3R Tedeh T o 2 37 2|

21, (A) faoma adiem 3x2—2x+%=0w%ﬁwamaﬁﬁqaﬁﬁﬂw%u@
=l Jepld T =hITY|

AUAT
(B) fgema wefiehtor x> —x — 2 = 0 % 9 71a i)

22. @ § o A § FHEm: OP, 0Q 3t OR W f&m A
fsmg A, B 3t C 38 v € f6 AB||PQ 3t AC||PR 2| :

zatse 2 BC||QR 2!
F A
.'III.. 'If ..I'I i
. . _ ot Sy
23. oA § S SR H, g O 901 T g W fed e

fig T, PT o o @ 31 afs ZTPO = 30° TR
3, 1 x % A T i Vil j?\\

[ A2

\ ,.-"I- 1 /

RV -
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(Assertion - Reason type questions)

In question numbers 19 and 20, a statement of Assertion (A) is followed by a
statement of Reason (R). Choose the correct option :

(a)
(b)

(c)
(d)

19.

20.

21.

22,

23.

Both Assertion (A) and Reason (R) are true and Reason (R) gives the
correct explanation of Assertion (A).

Both Assertion (A) and Reason (R) are true but Reason (R) does not give
the correct explanation of Assertion (A).

Assertion (A) is true but Reason (R) is false.

Assertion (A) is false but Reason (R) is true.

Assertion (A) : A tangent to a circle is perpendicular to the radius through
the point of contact.

Reason (R) : The lengths of tangents drawn from an external point to a
circle are equal.

Assertion (A) : If one root of the quadratic equation 4x* — 10x + (k —4)=0
is reciprocal of the other, then value of k is 8.
Reason (R) : Roots of the quadratic equation x* — x + 1 = 0 are real.

SECTION - B
Section - B comprises of Very Short Answer (VSA) questions of 2 marks each.
(A) Find the discriminant of the quadratic equation 3x* — 2x + % =0 and
hence find the nature of its roots.
OR
(B) Find the roots of the quadratic equation x* —x — 2 = 0.
In the adjoining figure, A, B and C are points on .P.
OP, OQ and OR respectively such that AB|[PQ and :
AC|[PR. Show that BC||QR.
[
-{s’ { . H%’wk"&
s . 0
In the adjoining figure, PT is a tangent at T to ey
the circle with centre O. If ZTPO = 30°, find "'H.HH
the value of x. Pt W,
/ ;\x
i "l.l"r I| :;l:’-\""\-\.
|I . | P
I'q_ -.I.I" T .I.'I
L A

E5E
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(A) 36 foig & Féeme wma i st fogati A (<1, 7) 3R B (4, —3) 1 e
TS TWTEE 1 AN €9 T 2 : 3 % A9 § faarfora =t 2
JAUAT

(B) 3¢ &g A (2, 3), B (-5, 6), C (6, 7) 3R D (p, 4) T TR Fg4s
ABCD % 3fi¥ &, @ p &1 9 3 i)

T& GEH B PQR, S Q W HHaI 2, § A2 R
tanP = \/5 2, dl 2 sinP cosP =1 #F I1d HifS)

1 |
P Lh

@ug - T

@UE - TH AY-IW (SA) THR % U9 § 31 TIAF U9 & 3 3k 2|

26.
27.

28.

29.

30.

firz ifm T 1+sec®  sin’0

secO 1—cosO

e fsuer forem @ SR 3BTl Srar 21 WiiRiekar s Hifee
(a) 9 U &Y Tk fad g0 HH |

(b) FIA T U YTH A H |

(c) 3ferer | ek sk foq wmw & i |

feama Tt X% + 6x + 8 % I I T T T Il doT ToNHT *
s % HEY T GoIar i A i)

forean 7 afl. i w99 % e 1 e J i, e g o
90° 3| T B, Td <™ feuge w1 &9%a ot 79 Hifg)

(A) g ST 6 s fog @ 90 @ T8 @O TEnstl fit amE s
Bl 2|
T

(B) =g O 2 Tehgrd Jai sl Brsamd 3 Tt 3R 5 .
g1 918 gq W St AB, S B¢ g9 ®i foig P o€ e
HAT &, Sl ARITS 1A <hIToTT| O

E3E
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(A) Find the coordinates of the point which divides the join of
A (-1, 7) and B (4, -3) in the ratio 2 : 3.
OR
(B) If the points A (2, 3), B (-5, 6), C (6, 7) and D (p, 4) are the vertices
of a parallelogram ABCD, find the value of p.

In a right triangle PQR, right angled at Q. If R
tanP=\/§ , then evaluate 2 sinP cosP.

P 0

SECTION - C

Section - C comprises of Short Answer (SA) type questions of 3 marks each.

26.

27.

28.

29.

30.

430/4/3 9

I+secO sin’ 0

Prove that secO 1—cosO

An unbiased coin is tossed twice. Find the probability of getting :
(a) atleast one head.

(b) exactly one tail.

(c) at most one head.

Find the zeroes of the quadratic polynomial x* + 6x + 8 and verify the
relationship between the zeroes and the coefficients.

Find the area of the sector of a circle of radius 7 cm and of central angle
90°. Also, find the area of corresponding major sector.

(A) Prove that the lengths of tangents drawn from an external point to a
circle are equal.
OR
(B) Two concentric circles with centre O are of
radii 3 cm and 5 cm. Find the length of chord
AB of the larger circle which touches the
smaller circle at P.
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31.  (A) Foruw W ek o ot TRl qEaeRtera =1 gem i Tt o e fa feRmn
2 3 3T o1g YA fafes foT =1 otem fomman 81 fifass 3 @ fot o=
T Y W & fore ¥ 27 o1qr fohu, Safer wadied 3 s qedes uiw feA
Tk W & fore T 21 e fohu) Faa fommen aun yas afafes foa =

[EREIIRE I

ST

(B) ‘@’ 3R ‘b’ & AW Fa shifere, fmer foe f= as avisron & gm0 +

ffig ®9 9 3% & B
3x+4y=12,(a+b)x+2(a—-b)y=24
@ ug - ¥
Qug - 9 W S -3IW (LA) ThR & U9 3T Ted¥eh T 5 37k &1 2|

32. UF AW foRd @9F H O SHT K SR ARG H I 9 T .
T % fore st @ €| W uw den F dw wmo P e
fewan SRR 3R 21 R o femm sideme R 21 . T
Wmaﬁm7ﬁ.aﬂtwﬁﬁw%ﬁ.%l
IR F FA A &FARA qAT AW [ hHIC
TR 5 & AT 1, T TR 75 &+
I AU o Ja i)

— _:l |

M A

33. = fean mn §eq 100 ufEmd i qifees fosiet s @ua ki esidan @

e @ud
(gt #)

130-140 | 140-150| 150-160 | 160-170| 170-180 | 180-190

190-200

qiEm <
&

5 9 17 28 24 10

IYUh 37Tehel shT HIEIh JTd <hifolT|

34. (A) UH AP. F UgAT UG — 5 I afaw ug 45 B| IC A.P. & mefi gl

AN 120 B, A UGl <hl TEAT 3T A F= T hifT]
srora

(B) afe Th A.P. % T8 7 UG 1 A 49 3 UgA 17 U@l 1 A 289 7, qt

Ugcl 1 Y& 1 AT 1 I

E3E
430/4/3 10 it




31.

EIgE
Esf

(A) A lending library has a fixed charge for first three days and an
additional charge for each day thereafter. Rittik paid I 27 for a book
kept for 7 days and Manmohan paid I 21 for a book kept for 5 days.
Find the fixed charges and the charge for each extra day.

OR

(B) Find the values of ‘a’ and ‘b’ for which the system of linear equations
3x+4y=12,(a+b)x+2(a—-b)y=24
has infinite number of solutions.

SECTION - D

Section - D comprises of Long Answer (LA) type questions of S marks each.

32.

33.

34.

E5E
430/4/3 11 i [P.T.O.

The boilers are used in thermal power plants to store
water and then used to produce steam. One such boiler N3
consists of a cylindrical part in middle and two | 5
hemispherical parts at its both ends. — T 17
Length of the cylindrical part is 7m and radius of
cylindrical part is %m.

Find the total surface area and the volume of the boiler.
Also, find the ratio of the volume of cylindrical part to
the volume of one hemispherical part.

The following table gives the monthly consumption of electricity of 100
families :

Monthly

Consumption 130-140 | 140-150 | 150-160 | 160-170 | 170-180 {180-190| 190-200
(in units)

Numberof | 9 17 28 24 10
families

Find the median of the above data.

(A) The first term of an A.P. is — 5 and the last term is 45. If the sum of all
the terms of the A.P. is 120, find the number of terms and the common
difference.

OR

(B) If the sum of first 7 terms of an A.P. is 49 and that of first 17 terms is

289, find the sum of first n terms.
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(A) Tgz-qa ¥ 75 M. 3 32 =Y o PRR ¥ g@H W & 9gG e
TR I 30 W 45° 2 | Al e TRE F UH & IR Th @S g
FE % 3k fS F, @ S o o gl T i |

(T&f 3 /3 =1.73 & gd §)
atera

(B) 4ftr % & g P & & 10 . 3= wo o R o1 o w07 307 21 W
% fIRG W T A S TEUAT T R I P W e o IR 1 IFAT R0
45° 3| easice Y aes 3 g P & wa Y gft 7 hifd
(@t 39 /3 = 1.73 % T 8)

Qs -

WU - T 3 TR{UT T / UEDe T U9 g o Uedieh & 4 31k 2|
36. : N

Weft o Srafe Y urdf 1 SIS S
Iredl B W % Yid e g4
HN, 9 Il H had B & GUES I
HHAT Al Bl T8 36 T I 60 hal
Tlied! 3 TR Heeh! THEH WET § %o o
w1 fofr ot 21 *
STIH SHeRR] & AR W, 7 I & 3w T
(i) otferepan foraa arfafyr, geft smmfa st ol 8 7
(i) wede Safafyr =i ferae B 3T el T8 BHI 7
(iii) (a) 3fE G 42 W R FSA A1E, AT AR fohar AT a8 JTHEE
TRl B 7

3teran
(b) =fE 1 TH Al 1 qeF 60 ., 1 TF H oI 15 & AR 1 W A
T 20 . 7, A 60 ohel, 36 T AR 42 W GG o forg fohat TR

T HEAT B ?

o 5 forsl qon STeRfol R eaTYEeh ST SR Tl % 3 i
==
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35.  (A) As observed from the top of a 75 m high light house from the sea-
level, the angles of depression of two ships are 30° and 45°. If one ship
is exactly behind the other on the same side of the light house, find the

distance between the two ships. (use V3 = 1.73)
OR
(B) From a point P on the ground, the angle of elevation of the top of a
10 m tall building is 30°. A flag is hoisted at the top of the building and

the angle of elevation of the top of the flagstaff from P is 45°. Find the
length of the flagstaff and the distance of the building from the point P.

(use V3= 1.73)

SECTION - E
Section - E comprises of 3 Case Study / Passage Based questions of 4 marks
each.

36. Khushi wants to organize her birthday
party. Being health conscious, she
decided to serve only fruits in her
birthday party. She bought 36 apples
and 60 bananas and decided to
distribute fruits equally among all.

Based on the above information, answer the following questions :

(1) How many guests Khushi can invite at the most ?

(i) How many apples and bananas will each guest get ?

(ii1) (a) If Khushi decides to add 42 mangoes, how many guests Khushi can
invite at the most ?

OR
(b) If'the cost of 1 dozen of bananas is I 60, the cost of 1 apple is I 15

and cost of 1 mango is ¥ 20, find the total amount spent on
60 bananas, 36 apples and 42 mangoes.

37. Observe the figures given below carefully and answer the questions :

Figure A
D___24em ¢ B 4.8 om R
Il")l:-,.;'. .l:'.l‘"'l'l ||"’rlé-."\- i l\‘[l
= |
£ |
El |: | II
i~ | | '_; :'.|I |-'_:
| 1035 |I'{II'_F| i |I Ih

E5E
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lCERC)

(] 5 T [ g 14 4]

] L] | L]
g E £ 3

1 I 1 |
, .5 5l B P 3 8fy 0}
@ (iii) g (iv)

CER]

. \,«
oo ! |
B4 %0 £
II.I'II \ II."I \
B - { L . t

1 i}w(v) r (i)
(i) 9% T JamEy SEH GHI STRaal WER 996 &l
(i) =% fo=r same few gHt epfaat Tatmam &

(iii) (a) fTag FiS for Tafmay By Taew ff g 2 weg foada 72

YT

(b) < wuEy By # wafmg g9 & o w9 @ %9 = i fe g

=feq ?

AR S E21 deh AITSA Shi9 ol SEHTA i 8 3@l shl T HHSIR 37T
fir <€ e @mar 21 = e PUBG”@?«ﬁﬁEﬁFﬂTGﬂ?ﬁ% Sedl &

TEIE & W 21 PUBG @eH & gsafoma

& a1 H OIS SAEehdT 96 & o, T b

foeme@ ‘BAN PUBG® 1M & & o
THEAT HAT 7, oEH s=I il ARCIRR R
Tt SH Sl FEaT 2l HeET X %k U fermeff
T o188 I aidt o o fewts 8 R)

CHT, 5)

BAN PUBG
L
SAVE KIDS

ALl T

Bl 1)

IR TEFD F R W, T O ¥ IR
e -

(i) fi AC 7o BD ¥ Sfded fomg % fiwis 7 Hifimw)

(ii) fepot AC &t oeeg 3ma shifsu)
(iii) (a) AR Tt ABCD &1 &=%d [1d shiferg|
HAAT
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(i) Name the figure(s) wherein two figures are similar.
(1)) Name the figure(s) wherein the figures are congruent.
(i11) (a) Prove that congruent triangles are also similar but not the converse.
OR
(b) What more is least needed for two similar triangles to be
congruent ?

Use of mobile screen for long hours h
makes your eye sight weak and give you Dil, 3) CiT, 5)
headaches. Children who are addicted to
play “PUBG’’ can get easily stressed out. BAN PUBG
To raise social awareness about ill effects &

of playing PUBG, a school decided to SAVE KIDS
start ‘BAN PUBG’ campaign, in which
students are asked to prepare campaign ALl 1) B 1)

board in the shape of a rectangle. One X
such campaign board made by class X student of the school is shown in the
figure.

Based on the above information, answer the following questions :
(1) Find the coordinates of the point of intersection of diagonals AC and
BD.
(i1) Find the length of the diagonal AC.
(ii1) (a) Find the area of the campaign Board ABCD.
OR
(b) Find the ratio of the length of side AB to the length of the
diagonal AC.
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